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F k2343 A KRR
BT (X) £ HEH| B X g BT (X) £ HEH| B X g BT (X) £ HEH| B X it BT (X) £ HEH| B X g BT (X) £ HEH| B x N

Z HET 48 64 65 129|7k B BT 154 231 272 503| A1 X 285 355 380 735| =SEHET 64 108 111 219|%E 87 129 145 274
rh T 29 39 42 81|iRE SHT 228 342 299 641|f2X 270| 344 366 710| 3= BRHET 44 64 67 131| R BHET 45 69 90 159
$BCRHET 42 50 57 107| L& HHET 92 143 178 321|Ak3 X 44 53 58 111|485 TUET BT 33 51 51 102| N7 Fi{RET 34 67 73 140
HEET 79 107 104 211|4@5K BT 24 50 39 894t % A HT 489 716 766  1,482|EIE 3FHT 20 43 45 88| {2 BT 14 28 32 60
FEERET 90 114 128 242|Z MET 24 34 38 72| ARET 70 116 104 220 |48 JTUET 76 116 110 226+ B HAHET 16 25 22 47
REHT 44 55 62 17|t & SET 55 88 81 169| Pr A ET 79 142 125 267|RATHT 189  254| 262 516| & MEET 37 57 64 121
£ REHET 265| 380 368 748 |12 BZET 187|  290| 286 576| & —TH 76 97 105 202|E2 BT 55 68 63 131| FHRET 62 93 94 187
J\BTHET 12 16 19 35|y BT 88 142 154 296|%EH — T H 96 117 151 268|rp BELET 119 136 132 268| = HET 34 77 67 144
BT 21 35 50 857k & HT 65 91 103 194| &R =T H 102 115 137 252| & HLET 416| 541 530 1,071|RBHET 59 91 107 198
AEET 24 37 47 84|12 ET 13 25 26 51|#EHmE TR 144 187 219 406| B A THHET 51 73 80 153| & LB SHT 22 38 55 93
R—HHT 28 33 38 7| BNEHER 312 440 400 840| WA T B 78 17 114 231 |FifEA X 153 198 204 402| 1@ BET 36 57 70 127
R FHT 77 83 94 177|%@8E—TH 197 271 278 549| K FE X 51 74 67 141 |RIBMEX 123 173 171 344| R AET 34 56 55 111
= &AET 28 29 43 72|1BBERX 61 97 107 204|dtLZETER 233 355 392 747|FERB MR 150  205| 222 Q7LBsE—TH 61 75 92 167
BHIN\YER 428| 544 586 1,130|B)IIHIX 5t 1500| 2244| 2261 4505|%R—TH 153|  226| 248 474|FEMETRE 7 106 99 205|lULBA=TH 86 134 139 273
BIN\YVER 100 124 143 267| T EFET 88 126 126 252|H M =TH 182| 267 280 547| = ==HT 128 173 171 344|LEB=TH 89 135 137 272
[ASIES P 232 320 333 653| T EIAEFET 65 103 92 195|FA=T B 152 221 235 456|FEE—TH 57 81 64 145(ILEEMTH 147 127 177 304
I\ R EET 195 221 238 459/ BT 21 36 37 73| HRETH 126/ 210 210 420|FEL-TH 114 149 172 321(ILEERTH 87 142 147 289
T EET 439 668 693 1,361| EALEFHET 61 88 95 183|thE—T B 148 195 205 400|EEHT 93 141 125 266|lULEAARTHE 109 176 163 339
BRET 17 23 22 45| ch A BFET 69 103 90 193\t =T H 203| 302 328 630|CPEAHIX 5t 1956| 2680| 2679 5359(USHX 5t 1,059 1576| 1,729 3,305
EIET 13 12 17 29| B8P IR § 304| 456 440 896t AT 95 115 133 248 FHAET 157| 223|208 31| FRER—TH 137 193 192 385
ERATX 15 19 20 39| A LT 92 148 160 308| I &t 3076| 4,324| 4623 8947| E—QfT 53 82 89 17| FRER-TH 97 140 115 255
FETET 20 26 34 60| HET 139|  200| 223 423|{ESLHET 196] 281 325 6064 HT 91 129 123 252| FREFR=TH 148  200| 206 406
HE BT 87 102 109 211| & RAET 232| 270 308 578|FAEJIR 89 122 138 260| A2 HET 185  304| 317 621 FRERMTH 159  218] 230 448
FEARHET 517 717 722 1,439|dt SHT 64 95 114 209|481 56 76 102 178| 45 . ET 31 59 61 120/ FRERAETH 125 175 180 355
R 83 94 97 191| BT 3REE S BT 15 23 21 44 RN 45 73 78 151|Z 3LET 78 17 136 253| FRERATH 158|  240| 258 498
deEAR2X 199 261 283 544K SEHET 25 44 41 854811 ErHT 114 173 190 363 | &5 ET 123 183 185 368 FREFB—TH 128 169 178 347
JEHEAIX 61 60 74 134|dL =X 70 70 91 161| 4 HHET 17 30 41 71| & RET 52 91 95 186| FREB_TH 139 193 184 377
R4 178 261 250 51| %% —TH 129 202|217 419|EFHEHX § 517 755  874|  1,629|HHBAT 16 27 29 56| FREBE=TH 130 184 188 372
dEHEARSX 315 412 432 844| LRI Bt 766| 1052| 1,175| 2.227|=kHET 410 620 590 1,210/ F—TH 90 130 133 263| FREFAENRTE 103 132 149 281
deEAR6X 180  230| 233 463| = {RET 127 173 213 386 = sk HET 346| 509 534 1,043|AFIE=TH 54 83 70 153| FREBRTH 133 169 169 338
AEXBE_-THE 147 188 179 367| LAIRR 9 13 14 27|15 ET 42 72 79 151|#FE=TH 63 91 98 189| FREFBHATH 132 182 193 375
HE—TH 82 105 103 208| X 9 16 19 35| =K AT 57 88 107 195|# 9 (ZMT B 95 142 134 276| FREFBELTHE 173 242 265 507
E=_TH 93 120 138 258| BHEKX 9 13 13 26| ch#TRET 38 63 55 118|#FEETH 64 96 96 192| FRETE/NTHE 117 145 159 304
HEE=TH 86 102 119 221 [SEALET 40 54 70 124()\E SR ET 47 79 86 165|#F(ZATH 67 87 90 177/ FREHE—TH 103 161 155 316
mhm—TH 96 108 121 229| £ ERET 19 31 28 59| /\FHHET 119 190 209 399|BEK—TH 91 135 138 273|FREE_-TH 138] 218|212 430
HH=TH 113 149 190 339|711 BT 38 54 67 121|—1RHET 58 72 82 154K =T B 53 74 80 154| FREFHX 5t | 2120| 2961| 3,033 5,994
Ei5—TH 70 85 100 185| /)N I BT 35 48 69 17| & ERET 148  219| 232 451|McpitiX 5t 1,363 2,053 2082|  4,135(44HT 109 148 156 304
EE_TH 112 157 139 296| 2 H#AHT 32 40 50 9|HEXMR 342| 507 495  1,002|t&;THET 364| 518 511 1,029 | EFAET 90 114 128 242
*EB—TH 121 139 153 292| = {RHFET 98 167 163 330|hE KX 158| 233|240 473| FEHT 100 164 161 325|FE A ET 90 130 119 249
ZXEB-TH 89 142 138 280|HAEER 79 109 106 215 ALK 109 159 152 311|E4EFHE 308| 426 385 811|FE+—TH 101 130 127 257
KRIE—TH 151 187| 201 388| = JRAT 59 96 87 183| — 1R $ X 195  294| 257 551|EH R ET 341 507| 486 993|FEHM—TH 67 85 84 169
RKIE=TH 59 64 78 142|SRMX 5 554 814 899 1, 713|HIViESHE—TH 73 103 105 208|4BitX 5 1113 1,615 1543 3,158|FEM=TH 65 96 97 193
#5—TH 62 72 74 1463 H.ET 127 216 216 432\ HSVEIE=TH 114 152 155 307 IR EFHET 66 105 92 197
HH-TH 62 71 86 157| K 5k BT 87 131 149 280| HSVHIE=TH 75 99 101 200 REREET 92 121 115 236
BH=TH 17 29 27 56 (AR X 115 152 187 339|HSVHESEMT B 119 175 160 335 [EEPNa ) 75 99 97 196
BX—TH 111 169 193 362|FHE—TH 151 140 198 338(/\AHKR 82 123 129 252 BEERH—TH 62 82 94 176
BH*=TH 7 9 9 18|FHER=_TH 60 76 76 152|MBHIX 5t 2532| 3757 3,768 7525 EERX 64 65 84 149
BEHXAETH 91 108 130 238| Kk FX 75 108 15 223 NIBEMX 5t 881| 1,175 1,193 2,368
BRATH 48 66 74 140|#FH L X 119 184 179 363

BRrtTH 109 129 147 276|H FHHFE 46 67 76 143 FAfEthis 5t 24,442| 34345| 35797| 70,142
BNRIN\TH 92 131 146 277|F HEEME 43 66 54 120

BRATH 1 1 4 5| R HERX 184  265| 287 552

BX+TH 9 11 9 20| —AHIX 5t 1,007 1405 1537 2,942

MIEHX 5+ 5694| 7.478| 7961 15439
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FER23FEIARBE
BT (X) £ HEH| B X g BT (X) £ HEH| B X g BT (X) £ HEH| B X g BT (X) £ HEH| B X g BT (X) £ HEH| B X N

EINE-LikE] 35 41 46 87|/ \IBHET 148 191 211 402|3x 7 BT 118 160 185 345 NETH [E 42 65 90 155| [ HAET 43 70 76 146
EJNE:1E 144 225 240 465| ="=HT 50 75 83 158 |FE 3R 7 BT 225 276 312 588|:AT N ETTE 35 43 47 90 | HA AR EFET 21 36 44 80
EJNEric] 35 49 53 102| & (LIET 197 314 333 647| &% FHET 208 334 361 695 |;AI NET4EE 105 148 180 328|773— )Ltk 29 49 44 93
EJNET 111 140 168 308|ch BHT 47 82 81 163|BA%—TH 100 154 151 305[;ATRETEY DB 55 79 83 162|;A & ET 60 87 17 204
EJNPA:ai] 32 50 54 104 |7 & LLET 46 72 70 14238 & F HET 41 65 59 124 RET S CHE 56 83 71 154| % [RHET 38 49 46 95
EJNEE: e 38 43 52 95|— /ZEMX 5t 488 734 778|  1,512|mIE A FET 35 67 66 133(AINET O & 16 25 26 51| FEFHET 43 83 83 166
EJNE: ] 46 56 66 122|#8E 5 BT 114 119 123 2423 RHET 56 86 87 173| A NETh E g 3 2 7 9| L FFHET 98 170 185 355
EJNERe 35 45 48 93| #B SR AT 88 124 128 252|Fi EET 150 235 238 473|;R N ET B jth 6 5 7 12| = 3R ET 31 52 55 107
EJNE R ad:i i) 57 Al 78 149|188k ABT— T H 31 42 49 91 (BT B 175 267 265 532[;A NET AR 21 31 45 76| FHE 28 25 37 62
E)IKARETE 29 31 40 T|ESRART =T B 30 40 46 86|BAX=TH 116 144 153 297 AT ETIR £ 9 9 1 20| LHE 20 33 37 70
EJNEd:ri] 37 35 48 83|ERRABT=T B 40 63 75 138| X1 FHET 108 160 172 332 NETHRE 16 19 17 36| 51l = BT 58 87 102 189
EJNE e 153 193 222 415|883k ABTM T B 189 265 273 538|'E & HT 147 236 241 477 NET &M 7 5 5 10| 3l = L BT 14 27 29 56
EJNE:E: g 45 47 58 105|#5 3k &1 B BT 161 191 229 420|EAETET 97 168 160 328 NET T 4 2 2 4|} FRET 53 55 54 109
EJNE:ES 73 109 108 217|883k iRET 113 147 148 295 | EAEFFTET 77 103 107 210/ BT E 20 23 22 45| 7 EHKET 27 39 43 82
EJNP:ric] 84 97 121 218|#53k L 3RAET 39 44 50 948 A EHET 79 106 92 198[5TAMIZ Bt 395 539 613| 1,152 ;20T 18 23 27 50
EJNR: e 104 139 144 283|#8 3k T RHET 30 36 39 75| = S FHET 308 436 433 869| FHEF 62 89 102 191 | ZC FET 14 14 13 27
EJNE N 40 52 62 14|88k B 38 57 53 10| Fr &R A BT 31 49 39 88| L HE 94 105 139 244| =V HEET 5 1 4 5
EJNEIN:IES 85 96 101 197|EB &SP ET 172  209| 252 461 |MitbX 5t 2071 3046 3121 6,167|BKE DER 56 84 75 159| 4 #AET 3 3 2 5
=) FNKRET 185  264| 274 538|#E 3k E ET 80 103 125 228| B AT 173| 258|296 554 |15 B 19 37 41 78| E+AHT 0 0 0 0
=)IFRETR 197 257 289 546 |#83k K F ET 32 34 43 77|F OET 120 188 199 387| KPR 19 1 18 19| BT BT 11 10 11 21
F)IMX 5t 1565| 2,040 2272| 4312|¢skKEHET 203 268 286 554| KATET 59 87 87 174|385K 39 35 45 80|41 R ET 2 2 0 2
REAT 275 377|429 806 | #83% X E FHET 54 92 88 180|BH % SHT 19 27 31 58| /&R 37 63 52 115| Ep tth T 1 0 1 1
FHRET 242 318 349 667|#BkKFETZ=TH 7 10 10 20|4THET 51 89 92 181| F K& 24 41 42 83|4HEHET 24 32 51 83
FBEET 37 58 58 116|8BR/KFET=TH 56 85 102 187|ch /4R HET 41 69 76 145| ERB 25 37 36 73| %EKET 41 54 64 118
RIEET 38 Al 66 137|#8R/KFETT B 26 38 39 77| REFHE 61 82 73 155 RiBH 13 22 18 40| TEHAHET 62 94 104 198
RS ET 135 238 228 466| %53k B HHET 29 40 51 91|t /RET 50 75 84 159|th B 52 52 65 17| L ERHET 45 60 71 131
e S 8T 251 359 396 755|88RHIX &t 1,532 2,007 2209| 4,216|4EKHET 23 32 35 67| SHoMIE 5t 440 566 633|  1,199|FE{k BHET 33 59 48 107
St AT 69 107 121 228| A 1SHT 226| 345 367 712| BRI 289 393 427 820 =VERHE 52 91 110 201
Ryl 245 329 367 696|/IMINET 178  246| 276 522+ REHET 153  216| 232 448 ST TR LLIET 46 73 79 152
HEHET 294 419 448 867|BAX=TH 153 214 209 423|EE8R Z BT 198 284 283 567 UN:ia 320 6 6 7 13
Fe S #THET 20 22 29 51|/ ET 78 116 124 240 | R HRHTET 148 228 221 449 JATHE 18 25 18 43
ESFR 130 223 223 446| B {HFET 227 342 363 705| 5/ BT ET 10 20 14 34 St 3 944| 1409 1562 2,971
EEER 113 181 195 376|BA SETIL/E 42 54 64 18|+ O $i#T 52 84 95 179 =S 66 73 89 162
EEFEH 119 199 186 385| B BT E/ K 24 32 39 RIEZS: it 124 196 193 389 e 7 7 5 12
IREMX 5§ 1,968 2901 3095 5996|88 EETHAT 51 79 80 159|FBABIIX 5 1571 2,328| 2438 4,766 il 79 103 127 230
EET1X 53 73 74 147|BA B ETEG /#F 32 52 57 109 ZR 32 30 45 75
ERT2X 48 61 87 148|3& / KRBT 27 38 40 78| #ESKRiIE 5 7,724| 11,162 11,620 22,782 gl m| 23 21 24 45
E3X 42 53 62 115 S & HT 86 146 136 282 g 8 7 6 13
B4R 46 53 80 133| £ R S HT 51 78 73 151 Brs 1 2 1 3
EE5X 119 156 169 325| T SHET 64 93 89 182 P RHX 24 29 34 63
EET6 X 132 176 182 358| RS EHET 167| 257 231 488 EOthis 5t 240 272 331 603
EET7TX 37 59 54 13| FZESEHET 215 324 305 629 Big 276 379 395 774
EET8X 94 112 122 234| RFSHET 243 325 324 649 3= 92 123 17 240
EETOX 108 127 134 261t Fx SHET 123 174 177 351 THE 0 0 0 0
EET10R 221 294 314 608 | TG 7% SHET 24 35 33 68 Bughis 5t 368 502 512 1,014
EE11R 32 49 46 95 ch 7% S HET 51 97 87 184

EET1 2K 131 225 201 26| FHIX  § 2,062 3047 3074 6,121

EX 5t 1,063 1438 1525 2,963 &5 § 39,149| 55,174| 57,960 113,134
=) |ttt 5t 4596| 6,379 6,892 13271




